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SECTION  A

Questions and answers in English.

1 You read this notice in a science laboratory.

(a) What are you asked not to do?

.............................................................................................................................................
(1 mark)

(b) Why?

.............................................................................................................................................
(1 mark)

ie`Qy Kwxw pIxw iblkul mnHw hY

ikauNik myz swP nhIN hn [
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2 You see this e-mail message about Sandeep�s flight details to India.

(a) With which airline is Sandeep flying to India?

.............................................................................................................................................
(1 mark)

(b) What time is Sandeep�s flight going to depart?

.............................................................................................................................................
(1 mark)

(c) Which day is Sandeep�s flight going to arrive in India?

.............................................................................................................................................
(1 mark)

(d) At which airport is Sandeep�s flight going to land in India?

.............................................................................................................................................
(1 mark)
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3 You see this text message from Baldeep.

Why can Baldeep not go to his friend�s house today?

Write the letter of the correct answer in the box.   
(1 mark)

A He is not well.

B He is going out with his family.

C He has a lot of school work.

A`j Swm � mYN qyry Gr nhIN Aw skdw

ikauNik mY� skUl dw bhuq kMm hY [
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sYkSn bI

pRSn Aqy au~qr pMjwbI iv`c

4 qusIN sqpwl dI ilKI hoeI ieh eI. myl dyKdy ho [

(a) sqpwl Gr dyr nwl ikauN Awvygw ?

.............................................................................................................................................
(1 mark)

(A) sqpwl Gr iks qrHW Awvygw ?

.............................................................................................................................................
(1 mark)

(e) sqpwl Gr vwps ikMny vjy Awvygw ?

.............................................................................................................................................
(1 mark)

____
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5 hrvIr ny ie`k swdw ijhw �vrf pzl� iqAwr kIqw hY ijs iv`c do Sbd ilstW hn [

pihlI Sbd-ilst

1. cwh

2. AYnk

3. Kwxw

4. iPlm

5. pYr

6. ikqwb

7. Swvr

8. pY~n

au~pr ilKy SbdW � hyT ilKy SbdW nwl �mYc� krky TIk nMbr Kwny iv`c ilKo [

dUjI Sbd-ilst

audwhrx:-

(5 marks)

guslKwnw 7

isnmw

lwiebRyrI

k`p

ju`qI

pypr

H/Jun06/3681/RF

6 LEAVE 
MARGIN
BLANK



6 qusIN pvndIp dy skUl dy kl`bW dw tweIm-tybl dyKdy ho [

(a) homvrk kl`b ikhVy idn huMdw hY ?

.............................................................................................................................................
(1 mark)

(A) sivimMg kl`b ikMny GMty leI huMdw hY ?

.............................................................................................................................................
(1 mark)

(e) mMglvwr � ikhVw kl`b huMdw hY ?

.............................................................................................................................................
(1 mark)

(s) ikhVw kl`b lMc tweIm � huMdw hY ?

.............................................................................................................................................
(1 mark)

(h) ikhVw kl`b do GMty leI huMdw hY ?

.............................................................................................................................................
(1 mark)

____
10

kl`b

sivimMg bu`Dvwr Swm 3.30 qoN 4.30 vjy

homvrk vIrvwr Swm 3.30 qoN 4.15 vjy

kMipaUtr somvwr dupihr 12.30 qoN 1.30 vjy

swieMs mMglvwr Swm 4.00 qoN 5.00 vjy

ieMfIAn Kwxw pkwauxw somvwr Swm 5.00 qoN 7.00 vjy

BMgVw Sin`crvwr svyry 10.00 qoN 11.30 vjy

idn qrIk
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7 qusIN lyK dw ie`k ih`sw dyKdy ho jo blbIr ny iliKAw hY [ 

vwkW � pVHo [

ilKo :

TIk T
glq g
pqw nhIN ?

(5 marks)

blbIr dy mwqw jI kMm qy nhIN jWdy [ g

blbIr dw Brw Gr iv`c hUvr Pyrdw hY [

blbIr dy ipqw jI kwr swP krdy hn [

blbIr dI BYx sOx vwly kmry swP r`KdI hY [

blbIr dy dwdI jI bgIcy dI dyK Bwl krdy hn [

blbIr dy mwqw jI rsoeI dw kMm krdy hn [

audwhrx

AsIN Gr dw swrw kMm rl ky krdy hW ikauNik myry mwqw ipqw dovyN

kMm qy jWdy hn [ myrw Brw swry Gr iv`c hUvr krdw hY [ myrI

BYx sOx vwly kmirAW dI sPweI krdI hY [ bgIcy dI dyK Bwl

myry ipqw jI krdy hn [ myry mwqw jI Kwxw bxwauNdy hn [ Awpxy

dwdI jI � AsIN kdy koeI kMm krn leI nhIN kihMdy pr auh mwqw

jI dI rsoeI dy kMm iv`c mdd krnw psMd krdy hn [ Kwx vwly

qy bYTx vwly kmry dI sPweI r`Kx dw kMm myrw hY [
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8 qusIN KyfW bwry ieh ivcwr pVHdy ho [

Awpxy au~qr ilK ky hyT id`qy KwinAW � pUrw kro [

(5 marks)

____
10

Amn

primMdr mYc lMby huMdy hn [

sqnwm

ikhVI Kyf cMgI lgdI hY ? ieh Kyf ikauN cMgI lgdI hY 

Amn:- mY� tYins izAwdw cMgI lgdI hY ikauNik ieh bhuq 

idlcsp Kyf hY [

primMdr:- mYN kirkt psMd krdw hW ikauNik mYc lMby huMdy hn [

sqnwm:- mY� Pu`tbwl bhuq psMd hY ikauNik ieh qyz Kyf hY [
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9 rvnIq quhwnUM Awpxy mn psMd pwlqU jwnvrW bwry d`s rhI hY [

rvnIq ikhVw pwlqU jwnvr r`Kxw psMd krdI hY ?

TIk au~qr dw nMbr Kwny iv`c ilKo [
(1 mark)

321

mYN ku`qw r`Kxw bhuq psMd krdI hW [ ku`qy � lY ky

sYr krn jwxw mY� cMgw l`gdw hY [ cor vI ku`qy qoN

fr jWdy hn [
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10 jspwl quhw� ieMglYNf dy mOsm bwry Awpxy ivcwr d`s irhw hY [

(a) jspwl ieMglYNf dw grmI dw mOsm ikauN psMd krdw hY ? do g`lW ilKo [

1 ..........................................................................................................................................

2 ..........................................................................................................................................
(2 marks)

(A) jspwl ieMglYNf dw srdI dw mOsm ikauN psMd nhIN krdw ? do g`lW ilKo [

1 ..........................................................................................................................................

2 ..........................................................................................................................................
(2 marks)

END  OF QUESTIONS

____
5

ieMglYNf dw grmI dw mOsm mY� bhuq psMd hY ikauNik ieh nw

izAwdw grm Aqy nw hI TMfw huMdw hY [ Du`p iv`c bYT ky bVw mzw

AwauNdw hY [ idn bVy lMby huMdy hn [ pr ieMglYNf dw srdI dw

mOsm mY� iblkul psMd nhIN [ bhuq TMf huMdI hY [ svyry Swm

hnyrw rihMdw hY [ Du`p G`t hI inkldI hY [
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There are no questions printed on this page
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